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Triploid cells 

can’t properly 

separate, 
creating 

unfertile 
offspring -– 
seedless 

watermelon! 

Because 

colchicine-

treated cells 

can’t properly 

divide, this 

results in 

tetraploid 

cells.  

A
 diploid cell 
is crossed 
w

ith the 
haploid cell 

from
 a norm

al 
w

aterm
elon 

plant.  

Young 
watermelon 

seedlings are 
treated with 

colchicine. 
This p

revents 
cells f

rom 
performing 
proper mitosis. 

 

 
Tetraploid 

cells u
ndergo 

meiosis 
and 

create tw
o 

diploid cells. 
A

 tr
ip

lo
id

 c
el

l 
is 

fo
rm

ed
.  


